
 
 

1) 
  98 
  AR54 
  DV6 
  AD53 
 

 
Sud Ouest Nord Est 
1SA Passe  2  Passe 
  ? 

2) 
  V98754 
  2 
  D76 
  853 
 

 
Sud Ouest Nord Est 
  1SA Passe 
  ?   2  Passe 
  ? 

3) 
  V8 
  AD1084 
  V52 
  R54 
 

 
Sud Ouest Nord Est 
  1SA Passe 
  ?   2  Passe 
  ? 

4) 
  V108532 
  2 
  AR5 
  V98 
 

 
Sud Ouest Nord Est 
  1SA Passe 
  ?   2  Passe 
  ? 

5) 
  RV982 
  V105 
  V3 
  D43 
 

 
Sud Ouest Nord Est 
  1SA Passe 
  ?   2  Passe 
  ? 

6) 
  3 
  DV9875 
  RV4 
  852 
 

 
Sud Ouest Nord Est 
  1SA Passe 
  ?   2  Passe 
  ? 

7) 
  R1054 
  D10 
  AV54 
  RD5 
 

 
Sud Ouest Nord Est 
1SA Passe  2  Passe 
  ? Passe 2SA Passe 
  ? 

8) 
  DV82 
  RD852 
  43 
  D4 
 

 
Sud Ouest Nord Est 
  1SA Passe 
  ?   2  Passe 
  ? 

 


